DUE TO LIVE LOAD, SELF WT OF SLAB &
FINISH LOAD

LIVELOAD - 2KN/m

FINMHLOAD - 275 EN/m

SELF WEIGHT - SLAB THICKNESS IN"'wi'X
BENmd

FOR SLAB TIRCENESS - 190 mum
LIVELOAD - 200 KN/m
FINEHLOAD - 275 EN/m

SW- 0.15X29 KN/m3 -3 ENmd SW- 0ISX 25 KN/mS -288KNm2

FOR SLABTIICKNES - 15mm
LIVELOAD - 200 KN/m
FINISHLOAD - 175 EN/m

FOR SLABTIICENES - 1lmm
LIVELOAD - 200 KN/m
FINISHLOAD - 1275 EN/m

SW- 010X 25 KN/m3 -290KN=2

Toml -AS0KN=2 Total -7AKNE2 =600 KN Total -725KNm2
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Load oa shorter span = 8502511 = 1450KNmn=1500KN/m
3

Load oa long span = 850 5.11 x0.703 = 1527=1550KN/m
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RATIO =§4} =206 >20

Load on long span = 725 x248 = 899> 900KN/m
2

h-lunh:hrq-n-'l.ﬂxﬂ = 299KN/m =~ 30KN/m
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RATIO -%ﬂ =206=m

1-3hy =oms

Load on long span = 8.50x 5.11 x0.854 = 1855 = 1900 KN/m
2

Load on shortor span = 850x511 = 1447KNim = 1450KNim
3

SLABTIICENESS - M0 mm (a) 4
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Load on long span = 7.25 x 206 x 0.87 = 6496= 6S0KN/m
2

Load on shorterspan = 7.25x 206 = 498 KN/m=500KN/m
3
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50 Load on long span = 7.2520.7611.76= 485 =S00KNm
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A%0xe Load on shorter span = 7255176 = 425ENim = 450KNim
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! g: 1] || _:g Load os long spen = 7.25 x0.88 x3.28 = 1046 = 10.50ENm
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Load oa shorter span = 7.25x328 = 7.93 KNim = 80KN/m
3

(iim)

RATIO =3} =100=m

Load os longer span = 8.50x5.11 = 1450KN/m =1500KN/m
3



